
  

 SČÍTÁNÍ PŘIROZENÝCH ČÍSEL (M-06-07) 

 

Dané příklady zapište správně pod sebe a sečtěte písemně. 

 

1) 266 + 3485 + 26 + 21647 + 248 =  266 
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            21647 

        248 

           25672  

 

 

2) 8142 + 31+ 9 + 456 + 21312 =    8142 
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           456  

               21312 

               29950 

 

 

 



  

 

3) 6458 + 258 + 17 + 698 + 8 =   6458 

          258 

            17 

          698  

              8  

                7439 

 

 

4) 9475 + 6175 + 87 + 647 + 80459 =    9475 

         6175 
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               80459  

               96843  

 


